U1CW2:Vectors



Name __________________Date________
1. Represent the three vectors below, starting from the same origin. Use a scale of 50 m/s = 1 cm

A = 200 m/s, due north

B = 300 m/s, 300 South of East

C = 360 m/s, 200 North of West

2. Find the components of each of the vectors below…







3. Which diagram best represents the resultant of vectors A and B? 






3. Which set of vectors would produce the resultant R? 





4. Vector equilibrium occurs when all of the vectors cancel, (the sum of all of the vectors acting on an object is zero). For example, the object below would be in equilibrium, because the four vectors would cancel. 


For the pair of vectors below, sketch in the equilibrant. How does the equilibrant compare in magnitude and direction to the resultant of two vectors? 


5. Add vectors A and B using a scale model. 

A = 40 m/s, due east

B = 50 m/s, 300 north of east.

Dove

AP U1CW2

